Participant ID
Participant Name
[Test Center Name

[Test Date [29/09/2024
[Test Time 5:00 PM - 7:00 PM
Subject [Technical Attendant |

Section : Technical

Q.1 g & Y8 W AR & g w=e B3 (filler rod) 1 78 T woa F=faf@a F @ fora Re W
ferem= =1t o e 87

Ans o A &R &I R Foof (edge preparation) T TR
X B. 3TMUR u1g (base metal) Y wakaT
X c.afndr Rfa

2 D. SR U1g T YR 3R TR

Question ID : 630680979641
Option 11D : 6306803842535
Option 2 ID : 6306803842532
Option 3 ID : 6306803842534
Option 4 1D : 6306803842533
Status : Answered
Chosen Option : A
Q.2 Which of the following is an ad! ge of lining production pi and
introducing a quality control system?
Ans X A.Higher manufacturing costs
X B. Reduced market competitiveness
X C.Increased production time
«” D. Improved efficiency and product quality
Question ID : 630680969992
Option 11D : 6306803804394
Option 21D : 6306803804396
Option 3 ID : 6306803804393
Option 4 ID : 6306803804395
Status : Answered
Chosen Option : D
Q.3 Which of the following is a significant benefit of using underground cables in urban areas?
Ans & A. Reduced risk of power outages due to weather
X B. Less initial planning
X C. Lower installation cost compared to overhead lines
X D. Easier to upgrade and modify
Question ID : 6306801073686
Option 11D : 6306804216920
Option 2 ID : 6306804216922
Option 31D : 6306804216919
Option 41D : 6306804216921
Status : Answered
Chosen Option: D




Q.4 Which of the following parameters does one get when they use a megger to test
transformer insulation?

Ans X A. Capacitance
< B. Inductance
4 C. Resistance

< D. Conductance

Question ID : 630680978728
Option 11D : 6306803838895
Option 2 ID : 6306803838897
Option 31D : 6306803838896
Option 4 1D : 6306803838898
Status : Answered
Chosen Option: C
Q.5 faega aRuy 1 F=-91 ueeh, SR TRere (overload protector) & wu # s aheat 82
Ans X A ufaRiuss (Resistor)
< B. a1 (Conductor)
X C. srefareiess (Semiconductor)
« D. /S (Fuse)
Question ID : 630680976449
Option 11D : 6306803829803
Option 2 ID : 6306803829804
Option 31D : 6306803829805
Option 4 1D : 6306803829802
Status : Answered
Chosen Option: D
Q.6 WIS AR &I TAA THA 7S & UFR W AR &< wif smavas 87
Ans o A. T8 R oA & g foh R @te & ae ol STl TahdT § STR TTerd fEfUiT (tripping) & st
ETIN
X B. 78 gRfYd & & fog fF ar a1 & le @ A @ &
X C. arafir gomeht (wiring system) 6 gt AT Rt &H A o farg
X D. drR &I &g ggm & forg
Question ID : 630680970080
Option 11D : 6306803804738
Option 21D : 6306803804737
Option 3 ID : 6306803804740
Option 41D : 6306803804739
Status : Answered
Chosen Option : A
Q.7 If a resistor is rated at 2 watts and 50 ohms, what is the maximum
voltage it can handle?
Ans o A 10volts
X B.20volts
¥ c.5volts
2 D.15volts
Question ID : 6306801073874
Option 11D : 6306804217680
Option 2 ID : 6306804217682
Option 3 ID : 6306804217679
Option 41D : 6306804217681
Status : Answered
Chosen Option: A
Q.8 ffafRa & & forw fRAf F, st o1 Faw sy giar @2
Ans X A. snfd & (Arching lamps) &
X B. w1 e srouedt & ur warfad gt &
o C. fafa srgura & Am A
X D. fgaieh
Question ID : 630680976480
Option 11D : 6306803829930
Option 2 ID : 6306803829928
Option 31D : 6306803829931
Option 41D : 6306803829929
Status : Answered
Chosen Option : B




Q.9 e s e rege Wi & IR, mmmwamm%m
faregerRiet et F Pt # @ we-eft Rt gk e

Ans X A = ama
X B. 1 wrdegdie
X C. 3= F=ar
& D. 3éar ik TarEl & ufay 3= ferty

Question ID : 6306801080173
Option 11D : 6306804242544
Option 2 ID : 6306804242542
Option 3 ID : 6306804242541
Option 41D : 6306804242543
Status : Answered
Chosen Option: D
Q.10 T HeITuAT § shd-foiae ufeefis (XLPE) $q12s heet o1 IUTNT et ol UTUfAeh shRor
T E?
Ans X A. IS YR I &
& B. STEAT 3R Tame ot afeRty
X C. Tenfid e a=et
X D. 311 et bt gt B e ama
Question ID : 6306801080039
Option 1D : 6306804241998
Option 21D : 6306804241999
Option 31D : 6306804242000
Option 4 ID : 6306804241997
Status : Answered
Chosen Option : D
Q.11 In Ohm's Law, what is the relationship between current (1) and resistance (R) if the voltage
(V) is constant?
Ans o A lisinversely proportional to R.
X B.lisequal toR.
< C.lisindependent of R.
< D. I is directly proportional to R.
Question ID : 630680970095
Option 11D : 6306803804800
Option 2 ID : 6306803804801
Option 31D : 6306803804802
Option 4 1D : 6306803804799
Status : Answered
Chosen Option: D
Q.12 foreft ufeRteres Y wgram A& (tolerance rating) Fam arfeht &2
Ans X A 35% gRT & Y ST TR arelt il
o B. UfRIeeh o arafdes uferte Y sifthg i Sufasrd famar
X C. 35 gRT TG Y T Yehe aret SAfAchd™ ateedr
X D. =gAdH T argHE
Question ID : 6306801080187
Option 11D : 6306804242613
Option 2 ID : 6306804242614
Option 31D : 6306804242615
Option 41D : 6306804242616
Status : Answered
Chosen Option : B
Q.13 Ueh URI-gaiford ELCB , Teh 2Rfgs aera gadhta uardf w fra=h mufdes ik fdae arfén
0 STt &2
Ans X A. gl mrufie ok & fgdftae
X B. g mnfies ok geh gt
o C. QY urufiies ofik gah s
X D. g mrafdes ok @ g
Question ID : 630680977279
Option 11D : 6306803833194
Option 21D : 6306803833193
Option 3 ID : 6306803833195
Option 4 ID : 6306803833196
Status : Answered
Chosen Option: C




Q.14 Frafafa & @ w-a, BIS #19e & siatfa wka & era frgga wfgar 2023 & fRwm 78 82

Ans X A SR &5t A figd dwmo
« B. frega arget # R dwmoT
X C. Ream SR Rt ofik Shfed gedert # faegd Twm=
X D. UR uamr@aedtd (pv) frsteft wer vomeft

Question ID : 630680975399
Option 11D : 6306803825617
Option 21D : 6306803825618
Option 3 ID : 6306803825616
Option 4 ID : 6306803825619
Status : Answered
Chosen Option: C
Q.15 @79 & fArg ATgsRIIeR &1 IuahT e @ uga, aa far T afey?
Ans o A T8 GRfYa o a1fdy fos Argenivier @ 81
X B. "rgehivier & Ffeat i wira it s =nfgw)
X C. ATgehiHeR it wrieh woTdt & siereiter (Calibrate) foram Srm =nfgg)
X D. 7g gffa fram s anfew o mmsenivie Ster & Torda 81
Question ID : 630680971105
Option 11D : 6306803808651
Option 21D : 6306803808652
Option 3 ID : 6306803808653
Option 4 ID : 6306803808654
Status : Answered
Chosen Option : B
Q.16 BIS ATIehT & AR, STt 3R YT & SiewforT & YRew &g oMSesR fagra ofa:a4 (electrical
enclosure) & forg sriféra s=rw midaer (IP) & fara=ht gt &2
Ans X A IP54
X B.IP67
X C.IP44
«” D. P65
Question ID : 6306801077829
Option 11D : 6306804233308
Option 2 ID : 6306804233310
Option 31D : 6306804233307
Option 4 1D : 6306804233309
Status : Answered
Chosen Option: B
Q.17 WRa & At fegga |@fdan & SIgaR, gifye aifa & @ren g wF & fag S=7 ateear ast
AT dhaet ot e e meerd ur iR faan ST anfRe?
Ans X A 1.51®
X B.0.54=
o C. 127
X D. 1.0+
Question ID : 6306801080054
Option 11D : 6306804242060
Option 2 ID : 6306804242057
Option 31D : 6306804242059
Option 4 1D : 6306804242058
Status : Answered
Chosen Option: C
Q.18 aRRAT (wireways) T 3HTaRUT foR STepfer T &Y Wee &7
Ans X A S
«# B. TGR I STAATRR
X C. Byemar
X D.gdER
Question ID : 630680970912
Option 11D : 6306803807902
Option 2 ID : 6306803807900
Option 31D : 6306803807901
Option 4 1D : 6306803807899
Status : Answered
Chosen Option: D




Q.19 ehet-thet ZhIR # fZefiaes dree & effael & forg Arres sifur (standard designations)
w1 E?

Ans X A Y13RY2

o B. X1 3R X2
X C.H1 3R H2
X D.A13RA2
Question ID : 6306801081868
Option 11D : 6306804249005
Option 2 ID : 6306804249006
Option 3 ID : 6306804249003
Option 4 1D : 6306804249004
Status : Answered
Chosen Option: B
Q.20 ffafRe & & wi=-41, yfAnTa dae 1 IuThT HA 1 W Fi 87
Ans X A. 31 eifa Y Terraarg
X B. 3= SFIREIVT AT
XK C. 3iferes Qst 1 3= gl
«# D. <13l (joints) &t 3= @1
Question ID : 630680978270
Option 11D : 6306803837068
Option 2 ID : 6306803837069
Option 3 ID : 6306803837071
Option 41D : 6306803837070
Status : Answered
Chosen Option: D
Q.21 gt ffeReor & SMUR WR, AT dhawil & forg Fafaf@a & @ F=-a anfae T8 @2
Ans X A. 3ifafeh I dicest dhaet
X B. 1 ara a1t et
o C. Ae0¥ q1a aTet harel
X D. 3= q1a aret et
Question ID : 630680978279
Option 11D : 6306803837107
Option 2 ID : 6306803837104
Option 31D : 6306803837106
Option 4 1D : 6306803837105
Status : Answered
Chosen Option : B
Q.22 ZEHERFR W feish ufarty w1 wdieror w & fag Fefaf@a & @ #9-36 gw am=a A g
Ans X A f-aieean geft udteror (Low-voltage AC testing)
X B. 21f<h 7oTes wdieror (Power factor testing)
X C. guehig uera AT9E (Magnetic flux measurement)
o D. I=-ateear St wderor (Highvoltage DC testing)
Question ID : 6306801075856
Option 11D : 6306804225501
Option 2 ID : 6306804225503
Option 31D : 6306804225502
Option 4 1D : 6306804225500
Status : Answered
Chosen Option: D
Q.23 ge AfE (Butt welding) & fog fora 351 & ateear i smasaerar gidt
&
Ans  pp 2-8V
¥ B.8-16V
X c.24-32V
X D.220-230V
Question ID : 6306801076825
Option 11D : 6306804229385
Option 21D : 6306804229386
Option 3 ID : 6306804229387
Option 4 ID : 6306804229388
Status : Answered

Chosen Option : D




Q.24 frd ehR Y arafeT T IUTRT I TG Y YT e TUT Shered] bl Fifien GRa va=
& & ferg fomar siar 87

Ans X A Fea fidieh dege arafin (Metal PVC conduit wiring)
X B. Héga/aemuy (de) arafm (CTS/TRS (batten) wiring)
# C. Wit & Sfik &fd araf (PVC casing and capping wiring)
X D. aefie arafé (Cleat wiring)

Question ID : 630680970922
Option 11D : 6306803807941
Option 2 ID : 6306803807940
Option 3 ID : 6306803807942
Option 41D : 6306803807939
Status : Answered
Chosen Option: C
Q.25 foreatt & aieear A & SIFER, dedt & FoneTeh <fffe & uFTe efifae it ok s i)
ateean gfig A e g @ gufar sam =anfag?
Ans o A UFTHSD
X B. gg uRuy & ufadty = AR awear 81
X C.=
X D. RUTTcHEH
Question ID : 630680970848
Option 11D : 6306803807647
Option 21D : 6306803807650
Option 31D : 6306803807649
Option 4 ID : 6306803807648
Status : Answered
Chosen Option : B
Q.26 g wfAAeyenl aret TETETaR uRuy &, ger ufarter 5 ohms fam mar @1 afd ge ufaterss & am 10
ohms &, dt g ufaRieres a1 A fara gm?
Ans X A 12o0hms
X B. 20 ohms
X C.150hms
«” D.10 ohms
Question ID : 6306801080225
Option 11D : 6306804242762
Option 2 ID : 6306804242764
Option 3 ID : 6306804242763
Option 41D : 6306804242761
Status : Answered
Chosen Option: C
Q.27 foreht aRay &, foreht sig gy S oM ateearsil o1 fiemioria g grar gl
Ans X A1
X B.-2
X c.-1
« D.0
Question ID : 630680976507
Option 11D : 6306803830039
Option 2 ID : 6306803830037
Option 3 ID : 6306803830036
Option 41D : 6306803830038
Status : Answered
Chosen Option: A
Q.28 3 %ot Hied® & uRuy fa=de (3 phase Moulded Case Circuit Breaker) 3 foig 500V @R
SifreRa uRT 9 erTar fahaeht ghft?
Ans X A.50-500A
X B.50-600A
«” C.10-200A
< D.100-800A
Question ID : 630680978317
Option 11D : 6306803837257
Option 21D : 6306803837258
Option 31D : 6306803837256
Option 4 ID : 6306803837259
Status : Answered
Chosen Option : B




Q.29 af #, feft fafAre s urg 3 fog Sugeh wRes w1g (filler metal) T T @t it Ageagof
2, iR 59 7a ufehan & e gea g &7

Ans X A S ufohar ot 1fd 3 & g wRe 1 AT @ Sa7 817 it ST e & SeR W T
forar ST g

X B. ¥Re U1 T T, SR YT & THM T A11g dTfch deg & Wy § Aol @1 Tk |

o C. 3T YT T TTeich G a1 o g1 Afey 3R Sredt Tara iR Sits Y Aereedt Ffga e
& g w7a Tremafes Heed g @y

X D. TRl gy GRATYA o & TG ke 41 T TetTh, SR &Tq &t gof= & &hH g1 el

Question ID : 6306801082007
Option 11D : 6306804249568
Option 2 ID : 6306804249567
Option 3 ID : 6306804249566
Option 41D : 6306804249565
Status : Answered
Chosen Option: C

Q.30 I=Td FTSHH A Wged w@H1 (firmer chisel) & fog setg it AT ward frert gidt 82
Ans o A 150 mm

X B.100 mm
X C.125mm
< D.200 mm

Question ID : 630680971097
Option 11D : 6306803808621
Option 2 1D : 6306803808619
Option 3 ID : 6306803808620
Option 4 1D : 6306803808622
Status : Answered
Chosen Option: D

Q.31 faegga uRuy it anfdra farg form fega umr o6t wétes wa @ Ao+t & fag fahe ATaes Suehwor 6t
Iyt R ST 8, ik 9 ST a1 Rigia Far 82

Ans o A AT HieR (Clamp meter); TTeieh TR GaehIT & ST UdT ST HIRT Rl AT 1
X B. gediHiex (Multimeter); 3i1d UfaRYer TR diezaT UTd &l AT HIRT Al AT &1

X C. 3gaF 3w (Insulation tester); Ied ateedT &l TaNT ahedh 3R fglarte ufadty R sira
e YR Y AT &1

X D. Sifffiweniu (Oscilloscope); dRTUT T GaTeR dhech HRT ht ATAT 1

Question ID : 6306801081941
Option 11D : 6306804249296
Option 2 ID : 6306804249295
Option 3 ID : 6306804249298
Option 41D : 6306804249297
Status : Answered
Chosen Option: C

Q.32 fSiT (brazing) ik SiesfR (soldering) & = wrufde siar @ &2
Ans X A SIS aTel! UTg3i S TR

X B. Tg<h IR I ThR

« ¢. 5 R ufehare Beuifed &t st €, a8 araae

¥ D. S arelt arwlt it Aterg

Question ID : 6306801076937
Option 11D : 6306804229784
Option 21D : 6306804229782
Option 31D : 6306804229783
Option 4 ID : 6306804229785
Status : Answered
Chosen Option: C

Q.33 Qe gAIaR aRue #, smgfef &t 7€ et oRT 12A & ik ufodierss 4 ohms, 6 ohms 3R R3 ohms
&1 af udes ufeteres R ateedr 24V g, @t R3 &1 a4 fhar 82

Ans o A 12 ohms
X B. 14 ohms
X C.8ohms
X D. 18 ohms

Question ID : 6306801080232
Option 11D : 6306804242790
Option 2 ID : 6306804242791
Option 3 ID : 6306804242789
Option 41D : 6306804242792
Status : Answered
Chosen Option: B




Q.34 Ueh UTSY a1EH (pipe vice), FTa¥] 36 Tag R foha feigail ur ushgar &2

Ans X A.Gifig
X B.umfig
X C.arfdg
o D.fa g
Question ID : 630680971122
Option 11D : 6306803808715
Option 21D : 6306803808717
Option 3 ID : 6306803808718
Option 4 ID : 6306803808716
Status : Answered
Chosen Option: C
Q.35 wyvf faega gonelt (Iuehvon) @it @RTE oA R srufRar @ gw Y fafy = & &Y
# afofa forar o gerar 21
Ans X A TfET
X B.af&w
X C. Hesfir
«# D. atfdfr

Question ID : 630680977134
Option 11D : 6306803832614
Option 2 ID : 6306803832616
Option 3 ID : 6306803832615
Option 41D : 6306803832613
Status : Answered

Chosen Option: C

Q.36 3w & fraw & o arerf &2

Ans X A fret uRay  afh, dteear & agerATad gt 21
X B. foreft wmereh R dieear nfarter & srgsrATIOT g 81
o C. el aTeTeh @ vaTfed YR 36 WR atedT & SIgehHTgaT aidt g1
X D. foreft =rrereh ahr feRty SER vafRd RT3 SRIehATUTA e 81

Question ID : 630680970089
Option 11D : 6306803804776
Option 2 ID : 6306803804773
Option 31D : 6306803804774
Option 4 1D : 6306803804775
Status : Answered

Chosen Option : B

Q.37 Qehel-theot ZAhRR & arfEn it fAkazar & adteor i & g smaaik w fhe Iuevor &t
It faRa srar 8?2

Ans o A g e (Clamp meter)

« B. 3iter (Ohmmeter)
¥ c. 3o Foe T = (Insulation resistance tester)
 D.atereeft ar sifffeieenty (Oscilloscope)

Question ID : 6306801075844
Option 11D : 6306804225456
Option 21D : 6306804225455
Option 3 ID : 6306804225454
Option 4 ID : 6306804225453
Status : Answered

Chosen Option: C

Q.38 Tf i uRIG, 2A, 4A 3R 6A, T WY & wd2r e T &, a1 KCL i gff et & g wfar &
Frepert arelt ger uwT faha=it 82

Ans X A 15A
¥ B.11A
% C.10A
o D.12A

Question ID : 630680970889
Option 11D : 6306803807813
Option 2 1D : 6306803807811
Option 31D : 6306803807814
Option 41D : 6306803807812
Status : Answered

Chosen Option: D




Q.39 ___ =7e% oI IUGNT AT} HehISN SHAwAT h qui e & foIg fovar iren &, fo amar=ge: @l
R dRnfid forar Srar @ ofk wifdh wel, g, el ok caraaiRs ok Afarew aRest & 3
St gl

Ans X A w9 fi fRigedia (Post top luminaire)
X B. gdhiga faggedia (Integral luminaire)
o C. anf-yrarrer faggediv (Street lighting luminaire)
X D. aref-afde fegediu (Semi-cut-off luminaire)

Question ID : 630680978246
Option 11D : 6306803836978
Option 2 ID : 6306803836976
Option 31D : 6306803836979
Option 4 ID : 6306803836977
Status : Answered
Chosen Option: C
Q.40 s fFam & w1 Ffaf@a & @ f9-a1 Rega vrae aRefaa frar srar 82
Ans & A dieedn (Voltage)
X B. GutRar (Capacitance)
X C. gaearar (Permeance)
X D. =rerendt (Conductance)
Question ID : 630680979632
Option 11D : 6306803842496
Option 21D : 6306803842498
Option 3 1D : 6306803842499
Option 4 ID : 6306803842497
Status : Answered
Chosen Option: C
Q.41 gehel-thel TR TR fA¥avar ufieror (continuity test) TR T3,
f=fafaa 4 @ sF-ar R ad 82
Ans o A TIOTRIHR i IUH RS IS T Phriae AT 3R Tariagd ¥RT et AT
X B.aEfET ok aE & T uferty Y Ao & fog sgee ufokly R
T SUTNT AT
 C. IR T i 3fR fgdiaes arfEn & ufokty 6 S &
X D. AR T Tfies argfe & R W ateear o1 J19 T
Question ID : 6306801075850
Option 11D : 6306804225480
Option 2 ID : 6306804225478
Option 31D : 6306804225479
Option 4 1D : 6306804225477
Status : Answered
Chosen Option: B
Q.42 IR A9 FAMIR F 3 Y &, St 3 R & Reamar mar 31 51 g9qe aiedst 20V &, at 10W aret
&a & aieear frasht ghfi?
10W
20W
30w
40W
O,
Ans X A 40V
< B.8ov
« C.20V
% D.30V
Question ID : 630680979602
Option 11D : 6306803842378
Option 2 ID : 6306803842379
Option 3 ID : 6306803842376
Option 41D : 6306803842377
Status : Answered
Chosen Option: C




Q.43 fARgeR afdie s (MCB) #, sifawr o S.C. (eguRuw) & e @ sz 87
Ans X A. IR, FgURYA & SR g &1
o B. THURYYA, URT &1 Goh @fRd Tk &, STafeh sifaeir ofiR-efR giar 1
X C. AR & HROT ST ghar &, Stafeh arguiue 3 roT ekt gt 81
X D. 59 ATt ArguRu giar 8, dt @i Iuaon 7 SR g g1

Question ID : 630680978332
Option 11D : 6306803837319
Option 21D : 6306803837316
Option 3 ID : 6306803837318
Option 4 ID : 6306803837317
Status : Answered
Chosen Option: C
Q.44 farerd TRUTT A € 3R e Y = a1 Her et & fog v Rl
¢ (fitting tool) =1 Iuiw faRar SiTer &2
Ans o A Trgy 4 (Pipe wrench)
* 8. {0 Sifge wrr (Slip-joint plier)
o« C. USSTRad &R (Adjustable spanner)
X D.Ta ¥4 (Allen wrench)
Question ID : 6306801075874
Option 11D : 6306804225568
Option 2 ID : 6306804225571
Option 31D : 6306804225569
Option 4 1D : 6306804225570
Status : Answered
Chosen Option : A
Q.45 farga sronferat & of-wud= 1 urafier S22 @ §?
Ans X A faegd dieedr sgmT
o” B. ATa 2R i faregd rema @ s
X C. forstelt &t @ua & a=Ar
X D. Rt & g a1 Gaef sem
Question ID : 630680970948
Option 11D : 6306803808043
Option 2 ID : 6306803808045
Option 3 ID : 6306803808044
Option 4 1D : 6306803808046
Status : Answered
Chosen Option: B
Q.46 =R HEATYT H SHTARA FAS 39 Uie (ICDP) A1 e fohet wreant oY Feifa anear @2
Ans X A %dd Bl (phase)
X B. Ot SR =g
X C. a3 (Line) 3R =g (neutral)
& D. &hae g
Question ID : 630680977091
Option 11D : 6306803832439
Option 2 ID : 6306803832441
Option 31D : 6306803832440
Option 4 ID : 6306803832442
Status : Answered
Chosen Option: C
Q.47 wtaor, TIR + YEMF = 0 fordt et anear 87
Ans X A. faga oot & aifts afiezor
X B. foneares o1 aT e
o C. fRare o dieear faw
2 D. 8w o faw
Question ID : 630680970834
Option 1D : 6306803807598
Option 21D : 6306803807595
Option 31D : 6306803807597
Option 4 ID : 6306803807596
Status : Answered
Chosen Option : B




Q.48 af% e 10-V ded &t 5 ohm & &t ufaterent & wryy Soft o & SiteT S, &t algy F frat arr

(grfter &) ganfaa ghfi?
Ans o AT
X B.15
X c3
X D.05
Question ID : 6306801073843
Option 11D : 6306804217556
Option 2 ID : 6306804217557
Option 3 ID : 6306804217558
Option 41D : 6306804217555
Status : Answered
Chosen Option : D
Q.49 HREM & Hei F WRAT AR fFe WehR okt SmryTe 3@ €2
Ans o A, Sitae 3R U T 819 aTel el & GRa a1 ST
X B. A f3chiadt @ ot smyree
X C. 3=a ITe fafderdr ot sy
X D. ¥ AT T SATHTA
Question ID : 630680969993
Option 11D : 6306803804399
Option 2 ID : 6306803804397
Option 3 ID : 6306803804400
Option 41D : 6306803804398
Status : Answered
Chosen Option : A
Q.50 giwwnR & fFa HeR & Tferr & R,y = Pgo/I2sc ohm It ured ghar 87
(Rey= I ateear ursf W @9 uferdiy, Pge = are #, 2R ok Ig = ¥R #, uwr; i far
Exd)]
Ans  p A TTETY TRIETOT
X B. e ufier gdreyor
 c. faga uRaer gdreror
X . I8 TdieroT
Question ID : 630680971068
Option 11D : 6306803808503
Option 2 ID : 6306803808506
Option 31D : 6306803808504
Option 4 1D : 6306803808505
Status : Answered
Chosen Option: C
Q.51 Match the following.
Chisel Type Function
1. Flat Chisel a. Cutting keyways, grooves and slots
2. Cross Cut Chisel b. Squaring materials at the corner
3. Half Round Nose Chisel c. Chipping excess metal off from joints
4. Diamond Point Chisel d. Cutting curved grooves
Ans X A.1-b, 2-a,3-d, 4c
X B.1-b,2-d, 3-a,4c
X C.1-,2-b,34a,4d
" D.1-c,2-3,3d,4-b
Question ID : 630680977513
Option 11D : 6306803834121
Option 2 ID : 6306803834120
Option 3 ID : 6306803834118
Option 41D : 6306803834119
Status : Answered
Chosen Option : D




Q.52 The colour identification of cores of non-flexible cables and bare conductors for fixed
wiring for R,Y,B of a 3-phase circuit are:

Ans X A.Phase R-Red, Phase Y-Blue, Phase B-Yellow
4 B. Phase R-Red, Phase Y-Yellow, Phase B-Blue
X C.Phase R-Red, Phase Y-Brown, Phase B-Blue
75 D. Phase R-Orange, Phase Y-Black, Phase B-Blue

Question ID : 630680977180
Option 11D : 6306803832797
Option 2 ID : 6306803832800
Option 31D : 6306803832799
Option 41D : 6306803832798
Status : Answered
Chosen Option : B

Q.53 dfet i g2 & SRR & YR & =g fohar ST 81
Ans X A @hEl & g

X B. anfes ofif ofik aiengt & g <t

X C. 39 a%g &, 5 R TS 1 IuahT ok ST 8,

« D. Qe i

Question ID : 630680977444
Option 11D : 6306803833847
Option 2 ID : 6306803833849
Option 31D : 6306803833850
Option 4 1D : 6306803833848
Status : Answered
Chosen Option : B

Q.54 3feifires deurl §, gifies afd & Soa wifew aret 8st & arafén & o e ueR &Y deret Y
SrgeiT Y et @2

Ans X A $IfRIge dheet (Coaxial cable)
X B. fidief-ggeirs daet (PVC-insulated cable)
o C. 3HE &aat (Armored cable)
X D. wfeRyset dhaet (Flexible cable)

Question ID : 6306801080015
Option 11D : 6306804241908
Option 21D : 6306804241905
Option 3 ID : 6306804241906
Option 4 ID : 6306804241907
Status : Answered
Chosen Option : B

Q.55 f=faf@a & @ #-3 srfarg amef (flux materials), 419, diae ok 7 Y wiel & sitg &
g Iugi i et @ auT sreafres HeiRes gielt @27

Ans X A #fifem Feikigs
X B. q& FiRIgS
 C. S wiikigs
X D. urRRaw Rierss

Question ID : 630680978790
Option 11D : 6306803839147
Option 2 ID : 6306803839146
Option 31D : 6306803839145
Option 41D : 6306803839148
Status : Answered
Chosen Option: C

Q.56 Which type of p has i holding strength when joined together in a conductor
material?

Ans X A Twisting
X B. Soldering
X C.Brazing
«” D. Welding

Question ID : 630680977670
Option 11D : 6306803834773
Option 21D : 6306803834770
Option 3 ID : 6306803834771
Option 41D : 6306803834772
Status : Answered
Chosen Option: C




Q.57 ek fargger ulkar & 6 kA 21fE wifdhe A envar areft MCB a1 Iuai fva mar &1 36 srquatT &
@ 7 6 kA e am zarfeft &2

Ans o A T8 SifRan o, St MCB &t &ifd uga famm 3ads gRT anfdr oY o1 Fehdlt &
X B. ffti & famT MCB @ wanfed gt wrehat areft siflicham et
X C. a5 ifeha R o tR TReame ot erfay ug famm MCB o o wehelt &
X D. g ifehan tichy ¢RT iS4 MCB gRT 8 fohar ST Gehar &

Question ID : 6306801081167
Option 11D : 6306804246256
Option 2 ID : 6306804246253
Option 3 ID : 6306804246254
Option 41D : 6306804246255
Status : Answered
Chosen Option: C
Q.58 Qe Soft ulkuer &, 5 aitw, 10 3itw 3R R oitw aret i nfaterss 120 V g & 512 &1 af aRuyr
@ wanfaa g archt e farera oRT 4 A 8, 9t srarTa nfaRteres R &1 914 e ghm?
Ans X A 1039
X B.22 3
X C.20 3"
" D. 153
Question ID : 6306801080214
Option 11D : 6306804242721
Option 21D : 6306804242724
Option 31D : 6306804242723
Option 4 ID : 6306804242722
Status : Answered
Chosen Option : B
Q.59 3RA-gRAE fRuet uie (Iron-Clad Triple Pole - ICTP) A9 &= ehT gt = o 82
Ans X A ITCP &=
K B.TPAC f&=
X C.TPIC fem
o D. TPCI f&=
Question ID : 630680970937
Option 11D : 6306803808001
Option 21D : 6306803808002
Option 31D : 6306803807999
Option 4 ID : 6306803808000
Status : Answered
Chosen Option : A
Q.60 3raurq fohea=r m glar &, 39 Heiy § Tiesw 3R 397 (soldering and brazing) & sfi= q&a
SR T §?
Ans X A Ticst 3R s g 8l ahel a1 IR fhy STTd &
o B. TS 7, S(UUTY ST 61 6; SO Hp 3T §gd TH 1 ST
X C. HicseA H, Sruerg ol foraer des 7 fohar ST &; sior §, sroerq &7 8T &
X D. Hiesw ofk ot 2 H g sroeng et e des i ot sra @
Question ID : 630680973844
Option 11D : 6306803819136
Option 2 ID : 6306803819134
Option 3D : 6306803819133
Option 41D : 6306803819135
Status : Answered
Chosen Option: B
Q.61 What type of screens are used to increase the heat dissipating capacity of the cable?
Ans X A Plastic
X B. Paper
X C.Air
«” D. Metal
Question ID : 630680978283
Option 11D : 6306803837120
Option 2 ID : 6306803837122
Option 31D : 6306803837123
Option 41D : 6306803837121
Status : Answered
Chosen Option : A




Q.62 PVC ssed (conduit) &t wraferd &2
Ans o A 3 3Tg SR T & uferief € &

X B. 3 gaeh g &
X caadgadl
X D.awgn g gl
Question ID : 630680970899
Option 11D : 6306803807852
Option 21D : 6306803807854
Option 3 ID : 6306803807851
Option 41D : 6306803807853
Status : Answered
Chosen Option : A
Q.63 Qehed-thal EIAKTHR H S UfARI @l A10= o1 uTafAies IE2a o 8?2
Ans o A TR Y GeTdT I STid e
o B. 3G Y T[UTEAT T SHTehet heAT 3R Y1 stheTa ot gar
X C. &R % JIhT 7O Al ATIT
 p.arsfE uforty FAefRa s
Question ID : 6306801075860
Option 11D : 6306804225516
Option 2 1D : 6306804225518
Option 31D : 6306804225519
Option 4 1D : 6306804225517
Status : Answered
Chosen Option: B
Q.64 Which of the following DOES NOT apply to electrical i llation as per the National
Electrical Code of India?
Ans X A Hotels
X B. Medical locations
X C. Office buildings
«# D. Motor vehicles
Question ID : 630680977736
Option 11D : 6306803835038
Option 21D : 6306803835037
Option 31D : 6306803835036
Option 41D : 6306803835039
Status : Answered
Chosen Option : D
Q.65 FUdH HfaRi (earthing resistance) Y ATU &1 TTUfAh I T &2
Ans o A [EUS U § QY oRT A GRIAT B e (dissipate) A & fog F vfadty @ gffga
AT
X B. f=Ia Iuamull &t Zerar &t ATaET
X C. farega St IusTiT ot StecT et
X D. Ren & dieear R & RufRa war
Question ID : 6306801075664
Option 11D : 6306804224683
Option 2 ID : 6306804224684
Option 3 ID : 6306804224685
Option 4 ID : 6306804224682
Status : Answered
Chosen Option : A
Q.66 Suaiisft (ELCB) 1 umuflies svrdf o @2
Ans X A dicear @R & fafafaa s
X B. Sify farggaerr & am et
o C. -3 &1 gaT @ 3R uRuy &t S (disconnect) &=t
X D. farga IusiiT &t Ao
Question ID : 6306801075554
Option 11D : 6306804224216
Option 21D : 6306804224214
Option 31D : 6306804224215
Option 4 1D : 6306804224217
Status : Answered
Chosen Option : B




Q.67 e 3R ZEwRR S IR0 WY it smgfef et aret aRaer & grem & fag 3 er A

gHEieft (MCB) Siar&t Iugsh 8?7
Ans X A 15U A gaidt
X B.zrgu C gaefidt
«# C. 2150 D uefieft
X D. zrgu B gwefdt
Question ID : 6306801081160
Option 11D : 6306804246225
Option 21D : 6306804246227
Option 3 ID : 6306804246228
Option 41D : 6306804246226
Status : Answered
Chosen Option : D
Q.68 for fRufa # SedeTdt AR (stay wire) &t of-HuehT & g ST Whal 87
Ans X A TG TEEMEIME
¥ B. 9 38 wIiEed JAmavur # W@ g
o C. AT g fagadrel St & &m & m 10 Whie & Semé X @ T g
X DR 5 IR A 5T 8
Question ID : 630680971013
Option 11D : 6306803808295
Option 21D : 6306803808296
Option 3 ID : 6306803808297
Option 4 ID : 6306803808298
Status : Answered
Chosen Option : B
Q.69 TR & HidRe Hee (winding) TR Hided uteror o= oo, ufedlay w9 ghmi
Ans X A AEH
X B.3=
o C. =
X D. srg=a
Question ID : 630680978717
Option 11D : 6306803838854
Option 21D : 6306803838852
Option 3 ID : 6306803838853
Option 41D : 6306803838851
Status : Answered
Chosen Option: C
Q.70 IpE Y-Hudha i Far fastuan gidt &7
Ans X A S ufeiy
X B. uRadf ufarier
o C. = ufoRier
X D. memm ufeier
Question ID : 630680970973
Option 11D : 6306803808135
Option 2 ID : 6306803808138
Option 3 ID : 6306803808137
Option 41D : 6306803808136
Status : Answered
Chosen Option: A
Q.71 & U & 3-that afdw & forg Iuahn 6t s areft a1 Feer Y aieear-ag= entar fora=h gidt 82
Ans X A.22kV @ 66kV dh
X B.11kV & 22kV d&
o C. 66kV @ 31fdeh
X D.11kV d®
Question ID : 630680975506
Option 11D : 6306803826050
Option 2 ID : 6306803826049
Option 3 ID : 6306803826051
Option 41D : 6306803826048
Status : Answered
Chosen Option: B




Q.72 Qe ASTHRT AT IGhT Geh TS wit AT &9 § e a3l gr1 Iuai & fog Afde gar g, @
HET ST &1
Ans X A HR (verge)
X B. fRRT (kerb)
«# C. T13fehd & (cycle track)
X D. %ea 77 (footway)

Question ID : 630680978252
Option 11D : 6306803837002
Option 2 ID : 6306803837003
Option 3 ID : 6306803837001
Option 41D : 6306803837000
Status : Answered
Chosen Option: C
Q.73 IS 1255 & IIFHR, T iTe & oIy yffvra Faet Rom &g et =gmaw mewrd smazas &7
Ans X A 550 mm
X B.450 mm
" C.750 mm
2 D.650 mm
Question ID : 630680979550
Option 11D : 6306803842169
Option 2 ID : 6306803842168
Option 31D : 6306803842171
Option 41D : 6306803842170
Status : Answered
Chosen Option: D
Q.74 waren a1 afafaehied & TR @ A & g dRwER SRR (backfire arrestor) & fAmfaf@a &
@ PN-91 geh Hgeayquf 87
Ans o A TR 3% (flame arrestor)
X B. foheex (filter)
X C. 30 ¥R (temperature sensor)
X D. DR [ (pressure regulator)
Question ID : 6306801077756
Option 11D : 6306804233022
Option 21D : 6306804233019
Option 31D : 6306804233021
Option 4 ID : 6306804233020
Status : Answered
Chosen Option: C
Q.75 Wt faega fam, 1956 & aw 61 & yEufdha Gats (connection with earth)' & @ &
SITER, Syfeferat T ReplE farg Mg of-wudhe udtarT &t Gudia o 6 srafd e gt &2
Ans X A &H I HH 12 HER
X B. %7 &H 6 HEH
X C.aadaa159EH
 D. 59 9 &HH 24 TEH
Question ID : 630680977238
Option 11D : 6306803833030
Option 2 ID : 6306803833029
Option 3 ID : 6306803833031
Option 41D : 6306803833032
Status : Answered
Chosen Option: B
Section : Numerical Ability
Q.76 Ueh et fRR w11 # 9 km/h Y A1t & AT I Tehell 81 38 URT Y e Y e F, amr Y
frodia fan & Seft & oft 7@ =R A, S 9 e @1 urRr A (km/h #) 3@ Hifsg)
Ans X A2
X B.4
& C.3
X D.6
Question ID : 630680521947
Option 11D : 6306802040119
Option 2 ID : 6306802040116
Option 31D : 6306802040117
Option 41D : 6306802040118
Status : Answered
Chosen Option: D




Q77 gfx a2+ b2+ 2 = 139, ab+be +ca = giﬁ'{' (a+b+c)<0% ar

(a+b+c)® F AF FT FIM?

Ans X A 1728
" B.-1728
X C.-1331
X D.1331
Question ID : 630680517625
Option 11D : 6306802022899
Option 2 ID : 6306802022898
Option 31D : 6306802022896
Option 4 1D : 6306802022897
Status : Answered
Chosen Option: D
Q.78 fRder rhet Gk v it 11 Rt & g1 e wapa & SR St 3 ot vt srdhet 10 Rt F qrr
TehaT &1 IEI Geh A1 1 e = foran, AT fadter Y ot g1 819 & 6 R uget v st
ol Hrd fhea Rt & qrr ghm?
Ans 2
K Ag— A
21
5
X Bg—f=
21
3
W C.8— A
21
7
X Dg—fa
21
Question ID : 630680900491
Option 11D : 6306803527730
Option 2 ID : 6306803527731
Option 31D : 6306803527729
Option 4 ID : 6306803527732
Status : Answered
Chosen Option : A
Q.79 af X 3fiz 250 T ATEATIUT 50 &, §t X 1 AT 7 RifSg)
Ans X A.12
« B.10
X c13
X D8
Question ID : 6306801063115
Option 11D : 6306804174820
Option 2 ID : 6306804174819
Option 31D : 6306804174821
Option 4 1D : 6306804174822
Status : Answered
Chosen Option : B
Q.80 ek a¥q T 4 e 1839 &1 Rashar 11% Y ge 33 & arg 22% w1 JifSfa = argar 81 avg
o1 sifeha e foRa= &7 [araen 3R Rereaw quife aen 1]
Ans o A 32521
X B.32518
X C.32524
X D.%2520
Question ID : 630680796513
Option 11D : 6306803121040
Option 21D : 6306803121042
Option 3 ID : 6306803121043
Option 41D : 6306803121041
Status : Answered
Chosen Option : B




Q.81 Qe e ot 10 e # A & forg &) ursy X iR Y va ary aer §1 af X st @t s F Y

@ 15 e w0 Aa1 &, af 3rdhal Y gRT & it W= A fore=n awg em?
Ans X A 29 e

X B.28fe
o C.30 e
X D.27 e

Question ID : 630680135272
Option 11D : 630680523852
Option 2 ID : 630680523851
Option 3D : 630680523853
Option 41D : 630680523850
Status : Answered
Chosen Option : D

Q.82 fFrAfafla ssres &1 7 319 SifSig) (Rrerean guifes @ goiffera)
21.377 - [5+0.5 of (3.1 - 2.3 x 1.02)]
Ans X A.17

X B.19
X c18
« D.16

Question ID : 630680108859
Option 11D : 630680422329
Option 21D : 630680422331
Option 31D : 630680422328
Option 4 ID : 630680422330
Status : Answered
Chosen Option: C

Q83 The LCM of 84 and 204 is:
Ans X A 804

« B 1428

X C 1650

XD 1120

Question ID : 630680447332
Option 11D : 6306801746584
Option 2 ID : 6306801746582
Option 31D : 6306801746583
Option 41D : 6306801746581
Status : Answered
Chosen Option : B

Q.84 Qe a¥g &l 114 H S99 R Gak Afh Y 40% Y g1 gielt &1 50% w197 veds vt & forg & 590

g ot et e oR (3 ) e anfRe?
Ans X A 305

o B.285
X c.275
# D.295

Question ID : 630680613827
Option 11D : 6306802402043
Option 21D : 6306802402040
Option 3 ID : 6306802402042
Option 4 ID : 6306802402041
Status : Answered
Chosen Option : B

Q.85 frat srafdy # (auf ) 21800 WR 6% aTfieh sTST 2% UR 31080 T WIYROT =T Aetm?
Ans X A9

& B.10

X C.20

X D11

Question ID : 630680612224
Option 11D : 6306802395631
Option 21D : 6306802395628
Option 3 ID : 6306802395629
Option 4 ID : 6306802395630
Status : Answered
Chosen Option : B




Q.86 10 Wefurl <1 3 40 @1 e & gar g« fh Yeh Defor ot et § 48 & =
W 31 ge forar war T 9 it Ara w1

Ans o A 417

¥ B.40.7
¥ C.427
X D.447
Question ID : 630680566307
Option 11D : 6306802214216
Option 21D : 6306802214217
Option 3 ID : 6306802214218
Option 41D : 6306802214219
Status : Answered
Chosen Option : A
Q.87 & af ugs, 31fer Y e it oy sifSer i amg Y ofi= T oY1 ora @ gw a are, IR AT
&t 3mg IHhT g Y S gt e it actar Sy T SHEhY AraT i adEE oy & ST,
|
Ans o A3:7
X B.2:7
X Ca:7
X D.1:3
Question ID : 630680405647
Option 11D : 6306801581745
Option 21D : 6306801581742
Option 31D : 6306801581743
Option 41D : 6306801581744
Status : Answered
Chosen Option : B
Q.88 6 TAT3il a1 AT 660 &1 I7ehT 3Td T hfSTI
Ans X A 108
& B.110
X co
2 D. 109
Question ID : 630680551906
Option 11D : 6306802157852
Option 21D : 6306802157849
Option 31D : 6306802157851
Option 41D : 6306802157850
Status : Answered
Chosen Option : B
Q.89 T Tifa Y STEEAT 250000 2t uget aef # 5w 10% i g g ok ok adf # 30% i i g
gt o are s STEE Hl
Ans X A 275000
X B. 325000
" C. 357500
X D.350000
Question ID : 630680667320
Option 11D : 6306802612841
Option 2 ID : 6306802612842
Option 3 ID : 6306802612840
Option 41D : 6306802612843
Status : Answered
Chosen Option: D
Q.90 13437 @1 S, B 3R C & ofir 39 yehR aier man @ 6 afy sah Seifa ffwat @ 269, 265 ok 87
o et o oft SITg, @t IAF Ut 3 : 72 4 F srgura F wRif gt S o fa wma AifSig)
Ans X A %2982
o B.32832
X C.72782
X D.32732
Question ID : 6306801063099
Option 11D : 6306804174758
Option 21D : 6306804174755
Option 31D : 6306804174756
Option 41D : 6306804174757
Status : Answered
Chosen Option : B

Section : General Awareness




Q.91 Ra & Fr=fafa & @ fara wwa #, wegpa gadt snfdaRes v 82
Ans X A fER SR sitfgam

o B. fommaat mdar ok swrEs

X C. ORI 3R TS

X D. afisy wraer 3R sefea

Question ID : 630680944829
Option 1D : 6306803704097
Option 21D : 6306803704094
Option 3 ID : 6306803704095
Option 4 ID : 6306803704096
Status : Answered
Chosen Option : D

Q.92 fAfaf@a & @ fora amet &, Toia FIE A et 76 Fstar &1 #fER, Sfiaw & ifdwr @ sfe=

ST ?
Ans X A FETH IR GEIRIQRA S R 99 (2014)
& B. I SSHAHT 3R 3 S WRa 99 (2011)
X C. Ue g AR SR 317 1 9RA 19 (1997)
2 D. Y. gien g ok o= 9 7Ra §w (2000)

Question ID : 630680945149
Option 11D : 6306803705354
Option 2 ID : 6306803705353
Option 3 ID : 6306803705355
Option 41D : 6306803705356
Status : Answered
Chosen Option: D

Q.93 1962 ¥ =T vaTadl & 31T & fog WRa TR gRT Fr=ifaf@a 7 @ fra afafa f gl &t
s oft?

Ans X A &, dum afafy
o B.5ft. SR TemituTer wfafy
X C.zar < afafy
X D. 3R, 3R, feare afafa

Question ID : 630680945842
Option 11D : 6306803708123
Option 21D : 6306803708125
Option 31D : 6306803708122
Option 4 ID : 6306803708124
Status : Answered
Chosen Option : B
Q.94 'q 2ife ge e 71é sifedfRa Sreif g sitifies Mes' qeaan _____ g1 foredt ot
Ans X A gl Agdret
X B. it Ry
o C. 31fra ffer
X D.#
Question ID : 630680965449
Option 11D : 6306803786298
Option 21D : 6306803786299
Option 3 ID : 6306803786296
Option 4 ID : 6306803786297
Status : Answered
Chosen Option : D
Q.95 R HY STATUMET 2011 F IHFIAR WRa # g s o1 ufaerd fram &2
Ans X A 83.5%
¥ B.85.9%
* C.75.2%
" D.79.8%
Question ID : 630680683344
Option 11D : 6306802676097
Option 21D : 6306802676096
Option 3 ID : 6306802676095
Option 4 ID : 6306802676098
Status : Answered
Chosen Option : D




Ans X A. gF Tt
X B. IR Reahsfia Rig
o C. 3 e ffda

Q.96 IR W A AT A ofR SR v # wfeha wu @ Frafaf@a d @ i afae an

X D. Scfteere gt
Question ID : 630680958389
Option 11D : 6306803757565
Option 21D : 6306803757563
Option 3 ID : 6306803757562
Option 4 1D : 6306803757564
Status : Answered
Chosen Option: C
Q.97 &g, W ok Fgw 3 7=t & uTg w1 aret gt Y wgeryof aenfeat &
Ans X A JWTefedea TeragR a
X .8
X C.hdd g
« D. SUThTea gofardt a=
Question ID : 630680996660
Option 11D : 6306803910373
Option 21D : 6306803910375
Option 3 ID : 6306803910374
Option 4 ID : 6306803910372
Status : Answered
Chosen Option : D
Q.98 T 2023 #, Wra # fr=faf@e § @ fora woa A Al WRan &1 9o & g 'qRfAE e
ufatsr (‘Safe City Project)’ 37 <hl?
Ans X A afferrg
& B.7ERTE
« C. SRS
X D. &Afesn
Question ID : 630680965786
Option 11D : 6306803787644
Option 2 ID : 6306803787643
Option 31D : 6306803787645
Option 41D : 6306803787646
Status : Answered
Chosen Option: B
Q.99 |z 2fwh 2023, ¥RA R & e maifSia ges AT 1T uTl
Ans X A maifr
X B. R
«” C. ERfRmn
K D. uréel®
Question ID : 630680965497
Option 1D : 6306803786489
Option 2 ID : 6306803786491
Option 31D : 6306803786490
Option 41D : 6306803786488
Status : Answered
Chosen Option : B
Q.100 g & -1 FTTI IUfA gieT & it aniia a1 i faera= & diern gt S @, A e &
T g ST 82
Ans o A RGIA (Curcumin)
% B. @1 (Carvone)
X c.f@ea (Citral)
X D. &R (Capsaicin)
Question ID : 630680996641
Option 11D : 6306803910299
Option 2 ID : 6306803910298
Option 3 ID : 6306803910296
Option 4 ID : 6306803910297
Status : Answered
Chosen Option : D




